N =

2000 = =0l & 2 BHa A

AN S

HE: HS2RM HHUE SEHR(2SUY/25TH)

BHel EtE+EbI

A

SN B SRA(SIH) - MBAY - BAS 0l & 24 e HlnE2
20 Bt 109,436,435 95,113,438 14,322,997
= 42,519,029
s 36,408,000
= 5,764,047
& 24,745,359
NSRS MAHE 222 (2FL 22 /23 H) 109,404,435 95,055,138 14,349,297
= 42,519,029
s 36,408,000
= 5,764,047
& 24,713,359
FME+=ZFH| 54,209,829 45,255,594 8,954,235
= 37,523,915
= 5,726,247
L= 10,959,667
FotME=ZH =& 26,000 66,000 240,000
201 ZEH2IH] 10,000 25,000 A 15,000
01 At 2eld] 10,000 25,000 A 15,000
O et=ZH| 10,000
OFIMEFTHIZIAMNSESHIS 10,000
202 O4dl 15,000 40,000 225,000
01 =UWobl 15,000 40,000 A25,000
D2t 2+=&HIF=& 0] 15,000
203 HRF&H 1,000 1,000 0
03 AIMZFXARFEY] 1,000 1,000 0
O3 MHE=F U =& A F XY 1,000
S INE 2SS E = 39,749,934 35,552,985 4,196,949
= 34,587,655
= 5,162,279
403 XXIEHSIH20I& 39,749,934 35,552,985 4,196,949
= 34,587,655
= 5,162,279
01 XXIEHX2EEX 39,749,934 35,552,985 4,196,949
O E 22+ 39,749,934
=2 34,587,655




SN 2Dt
HE: HS2HRM HHUE SEHR(2SUY/25TH)

&Rl 2 M E+=FH] (EHe|:® <)
A -3 -H2A(SH) - HEAMY - BES O AF K gggfg Hos
== 5,162,279
SXNE=2SHE S+ 3,000,000 2,500,000 500,000
403 XXM SXH20IH 3,000,000 2,500,000 500,000
01 XXSHHA2EX 3,000,000 2,500,000 500,000
OEXNEEsME = 2,500,000
O DMJF=HEHYI 500,000
CANESAMES(01Y) 6,784,757 6,148,009 636,748
= 5,353,847
= 1,430,910
403 XXM SXH20IH 6,784,757 6,148,009 636, 748
= 5,353,847
= 1,430,910
01 XXX A2EE 6,784,757 6,148,009 636,748
OSXNEESSHHE>(01Y) 6,784,757
= 5,353,847
= 1,430,910
CANHESAMESEA(01) 532,000 488,600 43,400
= 372,400
& 159,600
401 A&HIZ20YI 532,000 488,600 43,400
= 372,400
-3 159,600
01 Al&HI 528,200 485,000 43,200
OSXNEZsMESAS 528,200
£ 369,740
& 158,460
03 Al&=0Hd] 3,800 3,600 200
OSXNE =M ESHF 3,800
& 2,660
== 1,140
=2 300,000 500,000 A200,000
403 XXM SXH20IH 300,000 500,000 A200,000
01 XXSHHA2EX 300,000 500,000 A200,000
O3tz se 300,000




SN 2Dt
HE: HS2HRM HHUE SEHR(2SUY/25TH)

&Rl 2 M E+=FH] (EHe|:® <)
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
S THMHETAIAB RS 3,817,138 0 3,817,138
= 2,936,260
= 880,878
403 XXESHHSA=0IM 3,817,138 0 3,817,138
= 2,936,260
< 880,878
01 AXESHA=ESE=X 3,817,138 0 3,817,138
OS2t M 2 eAIAE = 3,817,138
= 2,936,260
== 880,878
2 MES XS 2,052,066 1,295,844 756,222
= 925,114
= 1,126,952
EsIMES X=X 27,000 10,000 17,000
201 B2 5,000 5,000 0
01 AR 22|l 5,000 5,000 0
Jget~&H| 5,000
O MESKNIFZIAIRESHIS 5,000
202 O4H| 20,000 3,000 17,000
01 =2WAbI 20,000 3,000 17,000
O23IMESKNI=E0ABI 20,000
203 SRF=ZXY| 2,000 2,000 0
03 AIMF=RGRF=EH| 2,000 2,000 0
O23ME S X3 A ZHF=EH| 2,000
=0 2R AHIX& 4,000 4,000 0
308 AXISHHMSOIHA 4,000 4,000 0
01 XXNHHBIAEXZ 4,000 4,000 0
O =0t SR XU XA 4,000
OIS XSS ES 2 SsHI K& 40,000 40,000 0
307 QIZ2to| & 40,000 40,000 0
02 0I2tFAE X 40,000 40,000 0
OIS St HES & SHI A& 40,000
=2S a2 20,000 20,000 0




AN S
HHM: MESIoRAS HAN 2=z (2L 22 /25H)

o T [l

&t 2HESKA (ctel: &
SNBSS - MEAY - BES 0l &k o4 e bz 2
SR MAar2e| = 20,000

308 AtXISH X SO0I& 20,000 20,000 0
= 20,000

01 XXSHHBLAEXS 20,000 20,000 0
=R ak2te] 20,000
= 20,000

FStHEZ 2elH XA 365,766 436,064 270,298
= 324,114
= 41,652

308 XNXIEHHSOIE 365,766 436,064 270,298
= 324,114
& 41,652

01 XIXSHHBILAEES 365,766 436,064 270,298
O2stMES 228X 365,766
= 324,114
= 41,652

20098 == 2 5o o F= & 800,000 500,000 300,000

201 2BH2ZH] 50,000 50,000 0

01 At=2teldl 50,000 40,000 10,000
Ot~ 50,000
OUEReoi2HEES 50,000

307 glztold 650,000 450,000 200,000

02 BlZtFAE=X 600,000 450,000 150,000
eI==Hstore 150,000
Oels0tsdMEE2 0" 100,000
ORI MII =AY 150,000
OZS2HE3EAIIE 200,000

04 BCIZtHALE X 50,000 0 50,000
(120098 =2 E 252l & 50,000

308 XXEHMSOIE 100,000 0 100,000

01 XIXSHHBLAEXS 100,000 0 100,000
23Rz ) 100,000
Oa=NEAAZZE 50,000




SN 2Dt
HE: HS2HRMS HHUE SEHR(2SUBY/25TH)

&Rl S HES XA (EHe|:® <)
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
OEAMAHRIAA=ZZ 50,000
SX2SHHAAIZAIME RS 755,300 0 755,300
= 581,000
= 174,300
308 AXISHHMSOIHA 755,300 0 755,300
=2 581,000
= 174,300
01 XXNHHBIAEZXZ 755,300 0 755,300
OSXE2SMAAZAIMEHT2S 755,300
= 581,000
< 174,300
DIEDISHMESIIMERNLESH 40,000 0 40,000
308 AXIEHXMSOIA 40,000 0 40,000
01 XXNHMBIAEXZ 40,000 0 40,000
O0L0SdSEINEnNaE2g 40,000
SEESFMAH 1,742,640 2,857,800 A 1,115,160
g 1,075,000
= 37,800
== 629,840
SPHEHESFMA =N 1,000 6,000 25,000
202 O4Hl 1,000 2,000 1,000
01 =2WAbl 1,000 2,000 A 1,000
OS2 MX =TI 1,000
PSS THZ2IH S A0l ) 49,140 35,000 14,140
= 37,800
& 11,340
308 AHXIEHSO0IA 49,140 35,000 14,140
= 37,800
= 11,340
01 AXSHHIABEZ 49,140 35,000 14,140
OSLE 23 THZ2H AH(01R) 49,140
= 37,800
& 11,340
FEEIIMESNSKA 233,000 222,000 11,000
|




SN 2Dt
HE: HS2HRMY HHUE SEHR(2SUY/25TH)
Sl 2SI (5l &2
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
308 XXIEHSOIH 233,000 222,000 1,000
01 KASHBLRES 233,000 222,000 11,000
mEEEE Y=y 233,000
SHSH R R X 27,000 27,000 0
308 XXIEHSOIH 27,000 27,000 0
01 MASHBAEES 27,000 27,000 0
(LSS HSRHAR 27,000
oS XH & 5501 BN & AHI X 15,000 15,000 0
308 XHXIEHH SOIF 15,000 15,000 0
01 KASHALBES 15,000 15,000 0
[1OHS X & 5 01 BIH & AtHI XI 15,000
S5 THOHLHE X B & X 20,000 6,800 13,200
403 TXIESHSKH2O0IR 20,000 6,800 13,200
01 XtXICHH =R E 20,000 6,800 13,200
(]2 31T O Lj 2 X 2 | 20,000
PHSS YL DE 2L 1,397,500 2,046,000 648,500
= 1,075,000
= 322,500
403 TXISHSK=0IF 1,397,500 2,046,000 648,500
= 1,075,000
= 322,500
01 KXISHHAERE 1,397,500 2,046,000 648,500
OSESSHURSDS ALY (2H2) 1,397,500
2 1,075,000
= 322,500
SHMAZHBUA 2L 1,262,000 414,000 848,000
=2 70,000
= 600,000
= 592,000
SHWAZHB LA FT 52,000 14,000 38,000
201 Lpr2y| 20,000 3,000 17,000
01 AFR2elt] 20,000 3,000 17,000
mEEES=1 20,000




AN S
HHM: MESIoRAS HAN 2=z (2L 22 /25H)

ool BSMXFHIUA DB (2t5: &8 2)
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Off &F K Ol AF o8 Hws2
SEEN R EEEF EEEEESN =T
oIS 20,000
202 Ofl 30,000 10,000 20,000
01 =00t 30,000 10,000 20,000
BELEEEFIEEr TR 30,000
203 AREXY| 2,000 1,000 1,000
03 AMFZAS 2,000 1,000 1,000
BEEVE-EE: J 2,000
SHMEALRIAE2Y 80,000 100,000 220,000
201 Lsr2 | 80,000 100,000 220,000
01 AF=Raelt] 80,000 100,000 220,000
Negag 80,000
SELVEEL 1 80,000
VR el ol 100,000 100,000 0
308 RXIEHHIS 100,000 100,000 0
01 KASHBLRE 100,000 100,000 0
BESEEOES 251 Jbx 2l Z 0t
& 100,000
SETNE AR A 50,000 0 50,000
201 Ler2 Yyl 50,000 0 50,000
01 AFR2elt] 50,000 0 50,000
BETEIRS=Y] 50,000
OSSMNZ AN 50,000
TYLUSBAYX 780,000 0 780,000
= 600,000
= 180,000
403 TXISHS 780,000 0 780,000
= 600,000
= 180,000
01 KASHAERE 780,000 0 780,000
Ozgss2 780,000
2 600,000
= 180,000
HARASTHE=X 100,000 0 100,000
I




SA

S 1

M2 WS2HRN AN SER(SHUBZ/25H)
ool BSMXFHIUA DB (5 &2
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
308 XXEHSOIH 100,000 0 100,000
01 KASHBLRES 100,000 0 100,000
OHHRAAAMHYLES T2 100,000
SCHAPSTY DAL 100,000 0 100,000
= 70,000
= 30,000
307 eI2t0IH 100,000 0 100,000
= 70,000
= 30,000
VRCIEIEPIEES 100,000 0 100,000
(ISTHNESPABLIE ALY 100,000
2 70,000
= 30,000
SSHBBRAML 2,943,000 15,000 2,928,000
=) 2,260,000
= 683,000
SHBFNANL AL 2,938,000 0 2,938,000
2 2,260,000
= 678,000
403 THXISHSKHZO0IR 2,938,000 0 2,938,000
2 2,260,000
= 678,000
01 XXM =R E 2,938,000 0 2,938,000
OS2 RN ALY 2,938,000
2 2,260,000
= 678,000
SDSEHRZNL AL 5,000 0 5,000
201 L2yl 5,000 0 5,000
03 A2 5,000 0 5,000
ORDSANLALSHAADS 5,000
32 N 47,194,900 45,216,900 1,978,000
= 4,000,000
= 32,473,000
= 10,721,900




SN 23 HD

M ME2RAS AN B2 (2L 22 /23HM)

CHel: SUHRSd Ny (St &S
A -3 -H2A(SH) - HEAMY - BES Of &F 2K glggi; Hlns2t
S RAMNL AL =Z 20,000 0 20,000

202 04l 20,000 0 20,000
01 ZUoH 20,000 0 20,000
(32t A NS ALS =X 20,000
AFAANRSTAETY 4,960,000 5,050,000 90,000
= 4,000,000
< 960,000
403 RIXISHISAHE0IA 4,960,000 5,050,000 90,000
= 4,000,000
< 960,000
01 KXSHIE2ER 4,960,000 5,050,000 A90,000
OFFAANSIATAES 4,960,000
= 4,000,000
< 960,000
SUS5HZZINL A 35,438,000 30,864,500 4,573,500
Py 27,260,000
[ 8,178,000
403 XIXISHSKE0IE 35,438,000 30,864,500 4,573,500
P 27,260,000
< 8,178,000
01 XXSHIEEXR 35,438,000 30,864,500 4,573,500
OS2 ML ALY 35,438,000
z 27,260,000
< 8,178,000
SUSI2ETAGAIY 6,776,900 9,302,400 A2,525,500
Py 5,213,000
[ 1,563,900
403 XIXISHSKE0IE 6,776,900 9,302,400 A2,525,500
z 5,213,000
< 1,563,900
01 XXSHIE2EXE 6,776,900 9,302,400 A2,525,500
OSLN23 2SN RASHAY 6,776,900
z 5,213,000
[ 1,563,900
HYSAHHI (23 (IIEH/IIE 32,000 58,300 26,300




2AM: 23t
HH: HH2AZHI(2S M) (JIEH/IIE)
cHel: J1=2| (E9: @)
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0 & o4 e HlnE2
Jl=2&Hl 32,000 58,300 226,300
Jl=23| 32,000 58,300 A 26,300
201 ZEH2EH| 15,000 43,300 228,300
01 AtE2teltl 15,000 43,300 A28,300
Ot~ 5,000
OJIZMNEESS 5,000
==l 10,000
O MAIH S R = ZAlH| 10,000
202 Oddl 14,000 7,000 7,000
01 SLAHbI 14,000 7,000 7,000
O2MAIE S S =& 04| 14,000
405 It SHI 3,000 8,000 25,000
01 L =ESHSHI 3,000 8,000 25,000
OOXEz82Hd 1,500
OJEHEZedy 1,500

_10_




